7890.C1.10E21.01

Spare Part ItemCode

OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumbhuriyet Mah.Hadimkoy Yolu Caddesi No:8 1Nolu Bagimsiz Bolum
Buyukcekmece Istanbul / TURKIYE VD: BuyukMukellefler VKN: 7080013433

Phone.: 00 90 212 8867800

OKFE 102 C CONVECTION COMBI STEAM OVEN, ELECTRIC, 10 GN 2/1

SPARE PART LIST
Item name.

Fax No: 00 90 212 8867809

Page 1
Version No: V18.07

Pictureld Price. Curr.

6225.00004 111

M5x10 GALVANISED HEX FLANGE SCREW

171.210.06400041.0.01

102 V2 RAF TEPSI SACI NET: (640*41)

6221.00001.121

Hose clamp 20-32 mm

6222.00015.67

OVEN HAND SHOWER 1600 MM 102 COMBI OVEN

6234.00003.24

CONTROL PANEL MK BOARD ELECTRIC OZT-KOMB-02 MK

2KLP.460.62150010.9.01

KOMBI FIRIN YIKAMA NOZULU TEFLON PULU DIS CAP 22 IC CAP 12 KALINLIK 5 MM

890.C20.00420010.7.06

202 GENIS ET PROBU KABLO TOPLAMA SACI

221, 1.12
856.N10.00080008.P.10

CLAMP 25*42 MM

FRITOZ YAG SIZDIRMAZLIK PULU BUKUMSUZ

6020.00003.07

SILICONE SEAL @10 FOR GAS FRYERS

6227.00010.13

HORTUM SILIKON Q38*IC Q28MM

2KI P.460.626700009.17

KALIPHANE UR- VANA REKORU 1/2*M16*1,5

6221.00001,020

Clamp 12x20

6213.00002,39

M5*10 stud bolt inox

6213.00002.39

M5*10 stud bolt inox

6225.00004 111

M5x10 GALVANISED HEX FLANGE SCREW

6222.00006.01

KURESEL VANA 1/2 KELEBEKLI KROM KAPLI

6262.00021.71

HORTUM Q36 L 785 101-102 GENIS YIKAMA POMPASI ANA HORTUMU

6213.00001.41

M5*10 SS HEX BOLT WITH FLANGE

[2865.N10.00700020.P.10

KUZINE FIRIN PROB BAGLANTI SACI P-L ISLENMIS

6222.00002.22

REDUCTION 3/4*1/2 BRASS

6262.00021.18

HOSE 1/2" WITH WRAPPED Resistant to 1250 heat/15 bar

6213.00001.10

M5x10 INOX PAN HEAD CROSS RECESSES SCREW

6222.00002.22

REDUCTION 3/4*1/2 BRASS

KLP.460.01701525.01

KALIPHANE UR- GENIS FIRIN KABIN YIKAMA NOZ-UL

6213.00002,39

M5*10 stud bolt inox

6213.00001.41

M5*10 SS HEX BOLT WITH FLANGE

6225.00004,111

M5x10 GALVANISED HEX FLANGE SCREW

2KI P.460.626000106.13

FLANGE FOR CONVECTION OVEN FAN MOTOR

865.N20.00700020.P.10

BULB FIXING PART FOR STATIC OVENS

6221.00001.020

Clamp 12x20

6221.00001.120

CLAMP 25*42 MM

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

6228.00020.00

GASKET FOR CONVECTION OVEN FAN MOTOR LR-17/17*23,9*1,5/4,3 PTFE+S

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

6221.00001.121

Hose clamp 20-32 mm

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

6259.00003.10

CONNECTOR GRI PG 21 ORTAC

6222.00006.37

TUMLESIK TAHLIYE VANASI BORUSU 101-102

6221.00001.121

Hose clamp 20-32 mm

6222.00006,34

TUMLESIK TAHLIYE VANASI SOMUN

6227.00010.13

HORTUM SILIKON Q38*IC Q28MM

9099.0BV06.7A

SENSIT METAL GROMET (TS 091A 1=67 pro TCK 094, Code: 930BV067A)

890.220.01000115.7.15

KONVEKSIYONLU FIRIN TERMOSTAT SACI

6225.00004 111

M5x10 GALVANISED HEX FLANGE SCREW

6266.00020.22

ANTIBACTERIAL FILTER 170*170*7

6226.00017.14

GENIS FIRIN KABIN REZISTANSI CONTASI 144MM*27MM

6213.00002.39

M5*10 stud bolt inox

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

6221.00001.020

Clamp 12x20

6262.00021.18

HOSE 1/2" WITH WRAPPED Resistant to 1250 heat/15 bar

6214.00013.10

M6 nylon insert lock nut

890.240.00480042.0.01

STANDART ADAPTE KONVEKSIYONLU FIRIN IC CAM SAGDAN KIVRIMLI HAREKETLI MENTESESI

6214.00013.16

M5 nylon insert lock nut

6213.00001.41

M5*10 SS HEX BOLT WITH FLANGE

6213.00002,39

M5*10 stud bolt inox

6213.00002,39

M5*10 stud bolt inox

6226.00019.09

SILIKON SUNGER 3X10 MM YAPISKIANLI

6225.00004,111

M5x10 GALVANISED HEX FLANGE SCREW

2K| P.460.626000106.08

CONVECTION OVEN GLASS HINGE PIN Q7,5*40 INOX

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

6213.00002.19

M5x16 S/S COUNTERSINKING HEAD CROSS RECESS SCREW

6226.00011.21

SILICONE STOPPER FOR INNER GLASS DOOR

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW




7890.C1.10E21.01

OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Cumbhuriyet Mah.Hadimkoy Yolu Caddesi No:8 1Nolu Bagimsiz Bolum
Buyukcekmece Istanbul / TURKIYE VD: BuyukMukellefler VKN: 7080013433

Phone.: 00 90 212 8867800

OKFE 102 C CONVECTION COMBI STEAM OVEN, ELECTRIC, 10 GN 2/1

Fax No: 00 90 212 8867809

Page 2
Version No: V18.07

6213.00002.19

M5x16 S/S COUNTERSINKING HEAD CROSS RECESS SCREW

6213.00001.10

M5x10 INOX PAN HEAD CROSS RECESSES SCREW

890.240.00480040.1.02

STANDART ADAPTE KONVEKSIYONLU FIRIN IC CAM SABIT MENTESESI(3 DELIKLI)

6252.00005.13

FAN COVER 8*8

6213.00002.19

M5x16 S/S COUNTERSINKING HEAD CROSS RECESS SCREW

6252.00015.160

FAN 12*12*3.8 230V ADDA

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

8899.P1015.75

POWER T-9 FIRIN VE IZGARALAR ICIN YUKSEK PERFORMANSLI YAG COZUCU 0,75L

6213.00002.39

M5*10 stud bolt inox

6213.00002,45

E— —
M5*12 TEK NOKTA INOX

6214,00013.10

M6 nylon insert lock nut

6262.00021.12

3/4" Water Inlet Hose

6232.00004,13

MAGNET NEODIUM 40*20*10 MM

6213.00001.10

M5x10 INOX PAN HEAD CROSS RECESSES SCREW

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

6267.00004.33 HOSE T 12MM BRASS 00
6234.00005.09 WATERING BIN TEMPERATURE SENSOR K TYPE TCR-M 05.L047-K02.K M8" 118
6234.00005.09 WATERING BIN TEMPERATURE SENSOR K TYPE TCR-M 05-L047-K0Z2.K M&" 118
6201.00020.09 CONVECTION OVEN BOTTOM HINGE SS CASTING 24,00,223 -61.101-102 121
6222.00006.33 DRAIN VALVE FE
9099 .OL Y50.230 OLYMPIA PUMP 50 Hz 230V 196
5OLY.MOTOR.00 GLYMPIA FAN MOTOR 0.6 KW 501z 157
6252.00005.02 FAN MOTOR PROPELL @ 350 H:110 TWO SIDED STAINLESS 128
6252.00015.160 FAN 1271236 230V ADDA_ ~ — ~ T34
6234.00005.10 WATER TEMPERATURE SENSOR K TYPE ELECTRIC OVEN BOILER 1500MM TCMS-MO1-LO75-KL5 K SItSI 148
9099,.P251F.00 Drain pump 158
0099 18000.RI RICA RESISTANCE 18000 WATT - COMBI OVEN BOILER TYPE (1GILBEV21) 165
6234.00006.08 WATER LEVEL SENSOR K TYPE BOILER OZTI-WLS.03 173
0099 336901 .14 3.WAY SOLENOID VALVE WITH BITRON FLOWMETER (33600114) 185
890.C10.00720072 F 30 __ 61-101-102-202 HEATER PIPE TOP TABLE 51 HOLE CLOSING FLANGE P-L MACHINED 196
0099 MVS21.000 CONTROLLI ACTUATOR 10 NM 230 V (MVS210) o8
9099 01450 .28 SENSIT THERMOCOUPLE (TCK 3091/B/260 3x TCK, 2m PTFE, 316/PEEK, 4A91F8000145028) 505
6234.00001.73 TOUCH PANEL_FRIN 01 HMI 11
179.13540.01B LABEL COMBI OZTIRYAKI - PAINTED 515
6260.00015.52C BUTTON METAL 6 MM INSERT-CHROME PLATED 516
6234.00001.77 COMBI OVEN DOOR SENSOR MMS-301-3.3-0500 520
6260.00090.876 ETIKET KOMBI FIRIN YENI (VOLANLI DUGMEYE GORE) 591
6232.00002.28 ROTARY BUTTON OZT-KOMB-ENB oh
6232.00002.38 BUZZER GWEST ADL16.22DSM ACIDC 24V o5
[6234.00001.26 THERMOSTAT 365" LIMIT EGO 56 10572500 536
9234.00001.68 THERMOSTAT 170 C LIMIT (FSTB WYF170G-254) 537
6227.00007.14 HOSE SILICONE OD 61" ID 51MM %0
0.10130525 4 10 __ 101-102 WIDE CONTROL PANEL SHEET 101
890.C30.GR0O81.01 102 ELEKTRIKLI KOMBI FIRIN PANO GRUBU 702
6262.00021.18 HOSE 1/2° WITH WRAPPED Resistant to 1250 heat/15 bar 205
6262.00021.18 HOSE 1/2" WITH WRAPPED Resistant to 1250 hea/15 bar 205
170.210.00860075 1 FL___ COMBI OVEN LIQUID LEVEL SENSOR ASSEMBLY SHEET PLASTERED F-L MACHINED 206
6222.00030.60 KOR TAPA 3/4" PASLANMAZ IC DISLI 703
0964 7 08 102 ELEKTRIKLI GENIS UST KAPAK SACI 710
2890.C20,02980231 F 10 GENIS FIRIN 120x120x38 KARE FAN KAPAK SACI YT
2890,C20.12470932 2,08 102 ELEKTRIKLI GENIS ARKA SACI 13
6226.00025.03 CABLE TRANSITION Q INNER 22MM 720
6201.00020.06 CONVECTION OVEN DOOR BOTTOM HINGE STOPPER, SS CASTING 703
6221.00001.040 CLAMP 40-60MM 523
6201.00020.07 CONVECTION OVEN DOOR TOP HINGE PART SS CASTING to
9303.02003.00 RAHRBACH-DOOR HANDLE LOCK TANGLE (6303-020030).FOR OKF61.101.102 62
0099 1800T.RI RICA RESISTANCE 18000 WATT -COMBI OVEN TURBO TYPE (1GIK3EV18) 69
0099 1410T.RI RICA RESISTANCE 14100 WATT -COMBI OVEN TURBO TYPE (1GIK3EV13) 70
6226.00011.332 KONVEKSIYONLU FIRIN CONTAS! 102 GENIS 6737535 204
6269.00001.117 FIRIN KAPI CAMI OKF 770770776 MM 102 BASKILI IC CAM KOMBI FIRIN 205
6269.00001.116 FIRIN KAPI CAMI OKF 873"662"4MM 102 BASKILI DIS CAM KOMBI FIRIN 206
2890.C20.09910949 6 12 102 STANDART ADAPTE KAPI DIS SACI 07
6251.00004.98 40W SQUARE LAMP KIT 33880 GO BA-FSSG VOSSLOH-SCHWABE 567068.01 CONVECTION OVEN LAMP 79
9303.02001.60 RAHRBACH-DOOR HANDLE (6303-020016)- FOR OKF61-101-102 58
6201.00020.08 CONVECTION OVEN DOOR BOTTOM HINGE PART SS CASTING o5
KLP 460 04850017 01 MOLD MANUF - CONVECTION OVEN DOOR TOP CNC BEING PIN %
6260.00002.10 PIPE FEET 130-180MM TOP TABLE 90-100 LG10




Buiyiikgcekmece Istanbul / TURKIYE VD: BiiyiikMiikellefler VKN: 7080013433

Cumhuriyet Mah.Hadimkody Yolu Caddesi No:8 1Nolu Bagimsiz B6lim

OZTIRYAKILER MADENI ESYA SAN. VE TIC. A.S.

Fax No: 00 90 212 8867809

Phone.: 00 90 212 8867800

3

Page
Version No: V18.07

OKFE 102 C CONVECTION COMBI STEAM OVEN, ELECTRIC, 10 GN 2/1

7890.C1.10E21.01

41170 40 TEAOZAdY EHL LI SONIA AT S11 HULM 10NQ04d T 3)1004d QY LINGINT "TINdN00 I¥ J¥1dSIQ AST XIALLTWA OL ALY TEd0dddy S1 1 DNINE

(IA3ESTd SIHOTE 117 ANYdHOD 1Z10/dd T

b °
b £

NAAQ 100 THH ALY

- vL80
E S
Eii(} TR T

Ad0) AATIOULNOD / YALON 1 TIOYINON
awyd/aody

WL NOB VL HEN/ 528
Y N\, h N\ 7 ,//, y 3 / P 7
N \. \ \ y %\ \ y . h N / / /
AN NN \ / SONCN ]

AN

ﬁ_ﬁ ) ” @

&+ 2 IS
g v

i\
\
\
\

\
\

1
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
!
|

Y
|
|
|
|
|
|
|

/ |
f 1
| L
/ |
/ |

- !

f |
|

g R
[ Vi
@O @G

\ T 7 7 /
| | | /
Y | | /

S

6s) @) @) € (&) @) @) &) @)
7 7 7

S

f [

QTS ZUAIE TV L TEYI0 AT LAENO NINISHH YA dATNARILZO ISHTIAHA NIILTHN YQNNSOLINEDOQ HaTHIZI) Ng B ISYATIULSI00 HONINELE0 LANELN] ISYHTILTED00 NINYHIDI00 N L9411




